Station 1: Proof Practice

Use the statements and reasons provided to complete the proof. Mark the diagram first!
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Given: WY is an altitude of AXYZ
WY is an angle bisector AXYZ
Prove: /X=/7Z As - b
X - 4
wy f
L — WY is an alti 0
=Wy _WFXZ _Lr=7Viyz | W7 Eanaltide .
wy ight angles
WY is gle W Mw s
e = o -
Reasons ]
= _Givem— /%— _—Reflexive POT :
If two segments are- icular, | If two angles are ri es, then i caadl £ sanang] ; CoF
th W M the es an angle into 2
then-trey form right angles : re congruen congruent angles
If corresponding ASA 0 Ifa segment is a i ofa
/GN%/ mwt%h:g the | triangle, is perpendicular to
= angles are congruent a side of the triangle .

Reasons

—

T
G’ILCA,

‘wwﬁr

2 op Bt & G o Mdde, B f 15
fe By ey

4

f-F' 2 %7'\'1!5& 9re .L Fien 'ﬂﬂf )Qﬁ'l 7134t £

M

1%‘&6;._

5“5’%* 5 0n Ghsle by sech, 74.

Fdivides

N drsle b g &

o,_s 4sh o I 2z

qQre. -‘2’&

&

- -
P

S

e

G




' Given Iis the midpoint of EG
ZE= /G

Prove: EG bisects HF

to complete the proof. Mark the diagram first!
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ion 2: Drawi

ments
1. Fillin the blanks to review how to draw each special segment. /
* Todraw a median of a triangle, you need to find the [Qucfpa int _ ofthe opposite side. The median has
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endpointsata__Vect¢x  ofthe triangle and the midpoint of the opposite side.

e Todraw an altitude, you need to find the < ’0629 of the opposite side. Begin at the vertex of a

triangle and use the ()r;)“m)é 1.4

(Cc. procal

slope of the opposite side to draw the altitude.
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To draw a perpendicular bisector of a side of a triangle, you need to find the midpoint and the _ {0,@& of

the side. Begin at the _.{(»(+f and use the opposite _r“.c Procs!  slope of the side to draw the

perpendicular bisector.

2. The vertices of APQR are at P(3, -1), Q(0, -2), and
R(-4, 4). Graph APQR and label its vertices. Then

draw median PM . Label M.
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3. The vertices of AABC are at A(2, 3), B(5, 1), and
C(1,-3). Graph AABC and label its vertices. Then

draw altitude AH . Label H.
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4. The vertices of APQR are at P(0, 0), Q(2, 6), and
R(5,5). Graph APQR and label its vertices. Then

draw the perpendicular bisector of FQ_
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5. The vertices of ASTU are at S(-4, 2), T(1 -1), and
U(-4, -4). Graph ASTU and label its vertices. Then
draw the altitude from T. ﬁ A V€(1 el
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ion 3: Finding Missing Values with ial ment

1. Identify each special segment as a median, angle bisector, perpendicular bisector, or altitude.

a) b) c) d) ES
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2. YB isanaltitude of AXYZ and m/YBZ = (7x+27)°. Find the value of x.
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3. AM is a median of AABC. Draw the median in the diagram. If BM = 10x - 8 and CM = 3x + 34, find the value of x
and CB.
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4. Given PS is amedian. Find m/ZPSR.
< 54° 5
g7 = Sxr 3 1502) +92 =7 (15x + 42)
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X= . (10x — 7) in. S (5x + 3) in. R
m.PSR = _7L Classify APRS by angles and sides: 'q'( b'k ISOSQ e S

5. Inadiagram shown, UV is a perpendicular bisector of ASVW and WV is an angle bisector of ASWT.
Mark the diagram with the given information and then solve forx, y, and mzSWT.
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mZSWT = _%_00.







1. Find the indicated angle measures.

Wb R el mly = o

%30 Hél + £3 = 170
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G533 L3 = 17

mL3 52

2. Fill in the blank with sometimes, always, or never.
a- The acute angles of a right triangle are N7 supplementary.
b. The acute angles of a right triangle are al wﬁzg complementary.
c. There can _ML be two right angles in a triangle.
d. Arighttriangleis_SUmeh™M@S . isosceles triangle.

3. Find msF.

Xitx=5%
Lx =5%
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smallest to largest. 5. List the sides in order from smallest to largest.
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Station 6: Isosceles and Equilateral Triangles
1. Find the indicated angle measures. A
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2. Find the value of x. Then classify the triangle by its sides and angles.

bxve +6x+ét 2e =10
Wi+ 1L = (%0

(%= 169
_ y<1(2
x= L Classification: ﬂ@k j;a Sglles
3. Find the value of x. Then classify the triangle by its sides and angles.
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